

Hotel Location



Closest Airports

Faro Airport (FAO) 25km (30min)

Lisbon Airport (LIS) 270km(2h 30min)

Seville Airport (SVQ) 220km (2h)

Walking distance

Vilamoura Marina
Falesia Beach
Golf courses
Environmental park
Sailing center
Cycling areas
Congress center

Close by

Historic Towns & market Waterparks, Zoo Walking trails Wineries



Hotel Location













Walking distance to marina and beach 5minutes walk, wheelchair accessible

Algarve















Property features



1 building

192 Rooms

4 floors

Reception in mezzanine

Elevators

Wheelchair accessible areas

Private lake

Outdoor terraces

Boardwalk around the lake

Gates to marina and beach









Retreat Rooms



183 rooms

Inland Retreat (inland view)

Tropical Retreat (garden/resort view)

Sapphire Retreat (lake view)

Emerald Retreat (lake/panoramic view)

32sqm
Twins or double
Terrace/balcony
Bathub&shower
Separate toilet
Smart 55" TV
Kettle, Nespresso
machine
Minibar, Safe
Iron&ironing board
Bathrobes&slippers
Desk
USB charging









Suites



9 Suites One or Two bedroom (lake/panoramic view) Up to 4 persons + cot

69sqm King bed Living area with sofa bed Sliding doors Two bathrooms Terrace or 2 balconies 2 Smart 55" TVs Kettle Nespresso machine Minibar Safe Iron & ironing board Bathrobes, slippers **Toiletries** Desk

USB charging











Food & Beverage



Gustatio

International buffet Breakfast and Dinner

Topos

Greek-Portuguese Dinner

BLEND Nikkei

Sushi, steaks & wine Dinner

Sora Food truck

Adults-only Daytime

Raw Bar

Lobby bar Drinks till midnight

Estrella Streetfood

Pool Bar All day snacks

In-Room dining 24h

ÀCosta by Olivier*

Beach restaurant Lunch and dinner *third party











Recreation



3 outdoor pools

24h Gym

Outdoor workout area

Yoga and fitness classes

SOMA Spa

Thermal Spa area with therapeutic pool, sauna, Turkish bath, Jacuzzi

Multi-sports outdoor space

Lake Watersports (kayaks, stand up paddle)

Beach at walking distance











Meeting Space Capacity



Paixão

Plenary room

Flexible space – divides in 3 meeting rooms

Natural light

Renovation in summer 2024

2 Breakouts (no natural light)

Features

Built-in screens and projectors in Paixão

Standard WIFI

AV equipment available with trusted suppliers





Space	Area m2	Length	Width	Height	Capacity				
					****		* *	o• o	Ų
Paixão A+B+C	241.5	21	11.5	4.3	220	140	190	260	60
Paixão A	101	8.8	11.5	4.3	90	56	80	120	24
Paixão B	88.5	7.7	11.5	4.3	80	50	70	100	20
Paixão C	49	4.3	11.5	4.3	50	30	40	60	12
Paixão A+B	189.5	16.5	11.5	4.3	170	110	150	200	48
Paixão B+C	137.5	12	11.5	4.3	120	80	110	150	34
Espírito	25	7.65	3.2	3	24	14	20	30	6
Liberdade	25	7.65	3.2	3	24	14	20	30	6
Interior Foyer	140.9	15.7	6.95	4.45	60	30	40	100	20
Exterior Foyer	84	9.7	8.7	openair	-	-	-	30	-

Restaurants' Capacity



Gustatio

120 indoor 80 outdoor DDR lunch, buffet

Topos

80 indoor 150 outdoor private lunch, gala dinner

BLEND Nikkei

20 indoor 50 outdoor lunch, dinner, party

Estrella

50 seating 100 standing dinner, cocktail

ÀCosta by Olivier BEACH restaurant

50 seating 100 standing lunch, dinner, party











Venues



Gardens

for cocktail receptions, informal lunches, gala dinners, weddings

Terraces

for cocktails, lunches, dinners, gala events

Lakeside deck

for live music events, outdoor cinema, fireworks

Sports area

for exhibition area, support&logistics for large events

Garage

for car launches





Past Events















Activities





Yoga sessions, morning jogging, group fitness classes



Kayaks, Sups, beach watersports, teambuilding



Golf classes, Individual golf rounds or tournaments



Jeep tours, walking tours, olive oil and wine tastings



Boat tours (catamaran, sailing), caves, dolphins



Karting competitions, F1 ring driving experiences

Thank you!



Karen Zorz Senior Sales Manager

karen.zorz@domesresorts.com MOB +351 930 426 036







